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The figures in the margin indicate full marks
for the questtons -
1. Write short notes on the followmg " 2x5=10
(a) Channel and,:l;rack g e
[ EFOIIEE RIS BN
(b) Electromagneuc waves - a.nd Longltu-
dinal waves’ USRI
(c) Paraboli¢ ‘mic and Lapel mic’
(d) Background score and Silence

(e) Amphﬁer;s and Equahzers

2. Digital audxo tranémission is takmg over ¢ the
old style “of * *Broadcasting. ' “Elucidate.
Comment ‘on theé' role of radlo JOCkeys in
today’s radio scenario. e 4+3=7

22D /747 ( Turn Over )



e {mp(R2--Phe (3 )

R0 . 5. Describe the different elements of sound in
How is speech dﬁe{ent frqtq voice? Explain audm. pro<.1uct10n. %at are thc? rules to tfe
the different parts of a human body, which kept in mind for radio pro.ductlon? What is
are respon31ble for voxce productxon with a the role of a sound recordist? : 4.+2+1=7
diagram. Defifie’ pitch 'voluié anid timbre. Or

RO 2+3+2—7 . . e :

B What is a noise reduction system? Mention
the different Dolby systems that are
available. Differentiate between a mono,

stereo, 3.1 and 5.1 surround sound. 1+2+4=7

. .8. What is a tranSdiiter?. Explain the working
and construction of a dynamic microphone
with a neat skeétch. Give three advantages of
a dynamic nﬁc;;'c)cphone.  1+4+2=7 ‘

o * ¥k K
Which is the most Wldely used signal
“ processor? Why is equalization. needed
during recording:and during playback? What
(i .nacATE the dlﬁ'er?nt_ pes of EQ? 1+4+2=7

0y ,_; 10 ;,a ’” 'T‘.',»; .

4. How is multi-track fedordifig dehieved? Give
Fithé" adVaritages of multistrack : recording.
Explain in detail about the various functions

“of an audio :mixer with a neat sketch. 2+5=7

Ceat Or .o

. What is the ‘part ‘played By &¢able and a
-connector: in. sound recording? Mention the
-most ‘widely used connectors in prOfeSSIOnal
audio recording. What _is impedance -
matching and microphone, segxsluvxty? 1+4+2=7

" 0oD/747T ( Continued ) 29D—100/747 4/H-82 (x) (Syllabus-2015)




